1. Define Technological disruption
[bookmark: _GoBack]Ans: anything that cause a drastic change in the development of technology
2. Which of the following is not part of the N2N plan
a. Promote Natural gas and Nuclear power through target use of tax incentives
b. Encourage oil and gas production in the U.S.
c. Continue promoting energy efficiency
d. Remove tax incentive from wind energy
e. Continue working on renewables and energy storage technologies such as batteries and compressed air energy
Ans: D

3. On average the world burns 14.5 billion cubic feet of gas without using it for energy. How many barrels of oil does the equal energy wise?
Ans: 2.6 million
